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CHAPTER

Q.1

MCQ and NAT Questions

A diode whose terminal characteristics are related
as i, =1, eV, where I is the reverse saturation
currentand V;is thermal voltage (V= 25mV), is
biased at 7, = 4 mA. Its dynamic resistance is
(@ 125Q (b) 50 Q

(c) 6.25Q (d) 25Q

In the circuit shown below the input V, has positive
and negative swings. V_is the output.
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(@) V, =0 fornegative V,

(b) V, = V,for positive V,

(c) V = Vyfor V., >V,

(d) V, = Vforall V,

In the circuit shown below, if the input voltage V,
is as shown below then the corresponding output
waveform will be
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In the circuit shown below, the switch was
connected to position 1atft<0and at =0, itis
changed to position 2. Assume that the diode
has zero voltage drop and a storage time t_. For
0 <t<t, Vqis given by (all in Volts)
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(@ V,=-5
(c) 0=sV,<5

(b) V=0
(d) 5<V,<0

For the circuit shown below assuming ideal diode,
the output waveform V, is

V, =10 sinot C) v,
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r,: dynamic resistance.
Y= Vr =§—6.25Q
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Considering ideal diode :
for V. < Vp, diode is OFF hence there is no current
through Rand V= V.
For V. > Vp, diode is ON hence
Yo = Vg
(as diode will act as short circuit)
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ForO<t<1, diodeis ON
100 Q 0.6V
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~ 1004600 700
= 0.01343A
. Vi, = 600 x0.01343 =8.058 V
For 1 < t< 2, diode is OFF, there will be no current
in the circuit and hence
Vo = 0V
Hence output waveform can be given as shown
below:

8.058 V
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For 0 < t < t diode will remain ON and hence
Veo+5=0
Ve=-5V
| 5. [C)
ForO< V. <V, =diodeis OFF = V, =V,
For Vo< V.= diodeisON = V, =5V
Hence output waveform can be as shown below
v,
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MCQ and NAT Questions

Q.1

Q.2

Q.3

Q.4

In the transistor circuit shown, give the reason for
collector to ground voltage to be V..

a) Collector emitter terminals shorted
b) Collector resistance open circuit
c) Inputvoltage V;is negative

d) Collector base terminal shorted.

Py

Find the value of base current in the circuit

PA.
10V

-0V

Assertion (A): A self-biased BJT circuit is more

stable as compared to a fixed biased one.

Reason (R): A self-biased BJT circuit uses more

components as compared to a fixed biased one.

(a) Both A and R are true and R is the correct
explanation of A

(b) Both Aand R are true but Ris NOT the correct
explanation of A

(c) Ais true but R is false

(d) A is false but R is true

Assertion (A): In a transistor switching circuit, it
is desirable that the transistor should not be driven
into hard saturation for fast switching applications.
Reason (R): When a transistor is under saturation
on state, both its emitter-base and collector-base
junctions remain under forward bias.
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Q.5

Q.6

Q.7

(a) Both A and R are true and R is the correct
explanation of A

(b) Both Aand R are true but R is NOT the correct
explanation of A

(c) Ais true but R is false

(d) A is false but R is true

A transistor has /5= 100 uA and I, =2 mA. If I
changes by 25 uA and I, changes by 0.6 mA, the
change in the value of p would be
(@) 3/2 (b) 5/4
(c) 1/4 (d) 4/5
The value of V,; for the transistor shown in figure
below is

+10V

>
S 2 kQ
>

27V T
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(a) 3volt (b) > volt

(c) 2 volt (d) none of these

A BJT biased in active region with B-E junction
forward biased V.= 0.7 V. The ‘B’ of transistor to
be 49. Assuming limiting case of Vg < % find
Re
- .
Vee=20V
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